Notice: Fill out COMPLETELY and return to Conservation Division at the address below within 60 days from plugging date.

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form CP-4 December 2003 Type or Print on this Form Form must be Signed All blanks must be Filled

WELL PLUGGING RECORD K.A.R. 82-3-117

Lease Operator: K. & B. N	ts, L.L.C.	API Number: 15 - 167-21474-0001						
Address: 510 W. 36th St.;		Lease Name: Bender OWWO KCC PIG Per #1 CP2/3						
Phone: (785) 628 - 34			Well Number: #1 CP2/3					
	Operator	License #:		Spot Location (QQQQ): SW - NW - SE				
Type of Well: Oil (Oil, Gas D&A, SWD, ENHR, W	Dock		S88' Feet from					
The plugging proposal was	approved on: May 15,	2008		(Date)	24	E (1)	East / We	
O Manula			(KCC District A	lgent's Name)	Sec	21 Twp. 15		
Is ACO-1 filed? Yes	No If not, is we	ell log attached	1?	No		Russell		
Producing Formation(s): List	— All (If needed attach ano.	ther sheet)				te Well Completed:	2/9/80	
None	Depth to Top:	Bottom	: т.	D	Plu	gging Commenced:	5/15/08	
	Depth to Top:	Bottom	: Т.	D		gging Completed: _5	/16/08	
	Depth to Top:	Bottom	: T.	D	Plu	gging Completed:		
Show depth and thickness of	of all water, oil and gas	formations.						
Oil, Gas or Wa	ter Records		С	asing Record (S	Surface	e Conductor & Producti	on)	
Formation	Content	From	То	Size		Put In	Pulled Out	
None		Surface	332'	8 5/8"		332'	None	
		Surface	3300,	4 1/2"		3300'	None	
	* .							
egy rem								
Plugging was completed by 800# of hulls were used	by Allied Cementing Co	o., L.L.C. usin	g conventions	al methods. A	total	of 480 sacks of 60/4	0 pozmix/cement v	
cement tickets, it took two	days because the cer	ment did not c	irculate until t	the 2nd day. V	Ve ha	nd a KCC official from	m our local Hays o	ffice on location
both days. Two inch tubin					_			
Name of Plugging Contracto	Maverick Well Serv	rice, L.L.C.				_ License #: 32169		RECEIVED
Address: 310 E. Plainvi	lle Ave Zurich KS	S 67663-70	122			_ 21001130 //	KANSAS	CORPORATION COMMISSION
Name of Party Responsible				stments, L.L	C.			JUN 1 9 2008
State of Kansas		Ellis		0.0			C	ONSERVATION DIVISION
Kenneth A. Norton, Presi				, 58.				WICHITA, KS
sworn on oath, says: That I		facte etatemer	nte and matte			rator) or (Operator) or and the log of the ab		
same are true and correct,		(Signature)	Kenn	H AN		m Preside		
			0 W. 36th Str	eet; Hays, KS	` •		•	
		(, , , , , , , , , , , , , , , , , , ,		. :1	Α	114.0	······································	. 2008
	1/	SWORN TO be	fore me this	day of_)''	une C	3.0(-7	
A MOTAL	DINKEL TY PUBLIC OF KANSAS OF KANSAS	Notary Pul	Mule	<u> </u>	Com	nmission Expires:	114 201	· /
My Appl. Ex	. 9 14 - 1	servation Di	vision, 130 S	. Market - Roc	om 20	078, Wichita, Kansa	ıs 67202	



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill To:

K & B Norton Oil Inv. LLC

510 W. 36th Hays, KS 67601

INVOICE

Invoice Number: 114038

Invoice Date: May 19, 2008

Page:

1

Customer ID	Well Name/# or Customer P.O.	Payment	Terms
Norton	Bender #1	Net 30	Days
Job Location 🔠 💢	Camp Location	Service Date	Due Date
KS	Great Bend	May 19, 2008	6/18/08

Quantity	Item	Description	Unit Price	Amount
225.00	4. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2.	Class A Common	12.15	2,733.75
150.00		Pozmix	6.80	1,020.00
	MAT	Gel	18.25	237.25
1	MAT	Cottonseed Hulis	27.95	279.50
388.00		Handling	2.05	795.40
15.00	Į.	Mileage 388 sx @.09 per sk per mi	34.92	523.80
	SER	Plug	893.00	893.00
15.00		Mileage Pump truck	7.00	105.00
			kansas cor JU	CEIVED PORATION COMMISSION 1 9 2008 ERVATION DIVISION WICHITA, KS
ALL PRIORS	APENET PAYAR	J F Subtotal		6,587.70

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 658.77

ONLY IF PAID ON OR BEFORE

Jun 18, 2008

	6,587.70
Subtotal	0,367.70
Sales Tax	480.90
Total Invoice Amount	7,068.60
Payment/Credit Applied	
TOTAL	7,068.60

ALLIED CEMENTING CO., LLC. 33198

REMIT TO P.O. B RUSS		NSAS 676	65	The state of the s	SER	VICE POINT: Hreat	Bend
DATE 5:/5:08	SEC.	TWP.	RANGE / Y W	CALLED OUT 8:00 AM	ON LOCATION		JOB FINISH 12:30
LEASE Bender	WELL#	1	LOCATION Russes	Of muth to	winter not and	COUNTY	Kanoas
OLD OR NEW (Cir			1/2 w to stop				· · · · · · · · · · · · · · · · · · ·
CONTRACTOR 7		ick W	Il Service	OWNER /	1 - 1		
HOLE SIZE	<u> </u>	T.D		CEMENT		60/	
CASING SIZE	7		PTH	AMOUNT OR	DERED 375	DX 740	4% GeL
TUBING SIZE 2 * DRILL PIPE			PTH /500 PTH	300 mi	Woonside	<u> </u>	
TOOL			PTH				
PRES. MAX			NIMUM	COMMON	225	@ <i>[2,15</i> -	2733.75
MEAS. LINE		SH	OE JOINT	POZMIX	150	@ 6.70	1020.00
CEMENT LEFT IN	CSG.			GEL	13	_@ <u>18,25</u>	237,25
PERFS.		-		CHLORIDE _		_@	
DISPLACEMENT				ASC	/0	_@ <i>27,95</i> -	279,50
	EQU	JIPMENT	1	Hulls	10	_@ <u></u>	011100
4		<i></i>	Drufing		RECEIV KANSAS CORPORATIO	ED®	
#/ 8 / BULK TRUCK	HELPER	-Jyle	Wirty		JUN 19	2 088	<u> </u>
	DRIVE K	7. A	- 00			- ~ 	
BULK TRUCK	CONTRACTOR	yoe Xa	mmecon		CONSERVATION WICHITA	KS ^S NDMOSION	
	DRIVER	Shono	Pache	HANDLING_		@ 	195.46
				-	og/stefaile	_ @ <u>&, v.</u>	523.80
	RE	MARKS:		MIDDAOD 4E	77-17-41	TOTAL	5589.70
KCC witness 1500 wi coment.	th 2		ng Mined 200 o	K .	SERVI	CE	
			100 excement	DEPTH OF JO	DB 1500		
		-	- Cement did no	左 PUMP TRUCI	K CHARGE		
			rent with 50#		TAGE		
hulls. Cen	rent d	id no	t circulate.	_ MILEAGE	15	_ @ <u>7:00</u>	105.00
				- MANIFOLD		@	
						@ @	
CHARGE TO: Z							998.00
STREET							•
CITY	ST	ΓΑΤΕ <u></u>	ZIP		PLUG & FLOA	T EQUIPMEN	NT
						@	
						@	·
To Allied Cemen	ting Co.,	LLC.					
	-		menting equipment			@ @	
			to assist owner or				
			The above work was	سسنة عاليا في		TOTAL	در مدر ایران میکند. ایران ایران میکند
			of owner agent or			TOTAL	
			and the "GENERAL	SALES TAX	(If Any)		
IERMS AND CO	UNDITI(JNS" liste	ed on the reverse side	•	-		
			/	TOTAL CHA	RGES		
PRINTED NAME	X Joe	Stul		_ DISCOUNT _		IF PAI	D IN 30 DAYS
SIGNATURE X	P			Thank	you!		



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: (785) 483-3

Eav.

(785) 483-3887

Fax: (785) 483-5566

Bill To:

K & B Norton Oil Inv. LLC

510 W. 36th Hays, KS 67601



Invoice Number: 114012

Invoice Date: May 19, 2008

Page:

1

Customer ID Well Name/# or Customer P.O. Payment Terms								
Norton	Bender #1	Net 30	LOUTE ANGLE THE TREE TO BE THE WORLD					
Job Location	Camp Location	Service Date	Due Date					
KS	Russell	May 19, 2008	6/18/08					

Quantity	item	Description + 1	Unit Price	Amount
57.00		Class A Common	12.15	692.55
38.00		Pozmix	6.80	258.40
1	MAT	Gel	18.25	54.75
	MAT	Cottonseed Hulls	27.95	167.70
465.00	!	Handling	2.05	953.25
15.00	1	Mileage 465 sx @ 09 per sk per mi	41.85	627.75
1	SER	Old Hole Plug	893.00	893.00
15.00	!	Mileage Pump Truck	7.00	105.00
			KANSAS COL	ECEIVED PORATION COMMISSION N 1 9 2008 ERVATION DIVISION WICHITA, KS
		Subtotal		3,752.40
ALL PRICES A	ARE NET, PAYABI	LE Subtotal		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 375,24

ONLY IF PAID ON OR BEFORE

Jun 18, 2008

Subtotal	3,752.40
Sales Tax	273.93
Total Invoice Amount	4,026.33
Payment/Credit Applied	
TOTAL	4,026.33

ALLIED CEMENTING CO., LLC. 34012

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665					SERVICE POINT:							
	SEC.	TWP.	RANGE	CALLE	D OUT	1	ON LOCATION	JOB STA		JOB FINISH		
DATE 5-16-08	21	15	14	<u> </u>				COUNT		STATE		
Bender LEASE	WELL#	<u> </u>	LOCATION Rusel	KS	South	1 0	Stickney			KS		
OLD OR NEW (Cir	rcle one)		Rd 2 West									
action Lanca A	Δ		•					_				
CONTRACTOR	Marri	ck We	A Service	OW	VNER		Used "	7 7	Part	1.(/ r		
TYPE OF JOB O	IC Hol	e Plug		- CE	EMENT		Osek	าง ง	766.	KD.(D.		
HOLE SIZE CASING SIZE	<i>V.</i>	T.I			AOUNT O	וחמ	EDED 404	60/ 6	12.	52 / 1		
TUBING SIZE 2			EPTH EPTH	_ AN	Do # /		ERED <u>450</u>	CC O	~ F()	.1		
DRILL PIPE	<u>-78</u>		EPTH	<u> </u>								
TOOL			EPTH	_	 							
PRES. MAX			INIMUM	_ co	MMON_		57	_@ <i>_]2</i>	15	692.55		
MEAS. LINE		SH	IOE JOINT	PO.	ZMIX _		38	_@_ <i>6.</i>	80	258,40		
CEMENT LEFT IN	CSG.			_ GE	L _	· 	_3		25-	54.75		
PERFS.	·			-	LORIDE			_@				
DISPLACEMENT			,	_ AS					<u> </u>	43.3		
	EQU	JIPMEN?	Γ	_//	راار لو	· 	RECEIVED		75	167,70		
					KAN	SAS C	ORPORATION COMM					
PUMP TRUCK (CEMENT	ER 🐼	John	<u> </u>			UN 1 9 2008	_@				
	HELPER	Gar	7	_	*****		UN 13 2000	_@				
BULK TRUCK		- 7				CO	NSERVATION DIVISIO	и @ —				
# 3% 1	DRIVER	Rock	5				WICHITA, KS	- @ —— @				
BULK TRUCK			(,					
#	DRIVER			- HA	NDLING	·	465	@ 2 ,	05	953,25		
				MI	LEAGE _	,09	1sk/mile			627,75		
	RE	MARKS:				•	4	T	OTAL	2.754.4		
214 : 04		-04	1 0 44 11	<u>.</u>			CERTAIN	· OF				
	•	•	and 300 # Hus		.		SERVI	CE				
to circula	ate t	o sur	face.	_ DE	PTH OF .							
70. 10			00 1/ 1	_ PU			CHARGE		····	893,00		
11/1X 12 2	K. 40	top	off well bor	EX سے	TRA FOO	OTA	GE	@				
100 ani al . 4										105,00		
_100 ps7 shut	ine.			– MA	ANIFOLD							
												
	110 1		a 1/ 1	<u> </u>		7	<i>y</i>	_ e				
CHARGE TO:/	VB N	brton	Oil Investmen	B B		1 C	<i>)</i> '	T	ОТАТ	\$98,00		
STREET				_ =	是	22	-	1,	UIAIS	7		
CITY	\$7	rate	710			40 =						
CIT I	s .	IAIL	211			Pl	LUG & FLOA	T EQUI	PMEN	IT		
					建工				•			
•							<i>_</i>	@	:			
To Allied Cemen	ting Co.	LLC.			<u>.</u>							
	_		ementing equipment							<u> </u>		
			to assist owner or					@		<u> </u>		
			The above work was		74t		· .			· 🔍		
			n of owner agent or					T	OTAL			
			tand the "GENERAL	C 4	TECTAT	7 /TC	A\					
TERMS AND CO			ed on the reverse side	S. SA	LES TAX	11) 4	Any)					
		inks!			TAL CH	ARC	ES			PANTA.		
PRINTED NAME	~		•	_ DI	SCOUNT	`			F PAI	D IN 30 DAYS		
										v		
SIGNATURE	K	(P)		_								